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<h2 id="—-178%5">—_ 17255 </h2>

<table>

<thead>

<tr>

<th></th>

<th>& LVM</th>

<th>7 LVM</th>

</tr>

</thead>

<tbody>

<tr>

<td>9X</td>

<td>1</td>

<td>2</td>

</tr>

<tr>

<td>mEE </td>

<td>3</td>

<td>4</td>

</tr>

</tbody>

</table>

<p>TEMELAMIZ ST S§H%E</p>

<h2id=""-F&BAER-TAGC">_, ¥HSET A 5G</h2>
<h3id="2-1-%21-BHK-BLYM">2.1 FE 1, §HK, B LVM</h3>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
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<h4 id="75i%5—- 1B KRIRME=E)" >75i%5—. IBAIRHETE</h4>

<p>1JGHEEZSER A 5GB<br>

2 RIFEE </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">echo 1 &gt; /sys/class/scsi_device/0\:0\:0\:0/device/rescan

</span> </span><span class="highlight-line"> <span class="highlight-cl">g
</span></span><span class="highlight-line"> <span class="highlight-cl">echo 1 &gt; /sys/c
ass/block/sda/device/rescan

</span></span> <span class="highlight-line"> <span class="highlight-cl">g}
</span></span><span class="highlight-line"> <span class="highlight-cl">echo '- - -' &gt; /s
s/class/scsi_host/host0/scan

</span></span></code> </pre>

<p>33JERHITOX </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">fdisk /dev/sda

</span></span></code> </pre>

<p>HHETR: <code>n</code> (FEEoKX) -) <code>p</code> (IEFEHKX) -) <code>
</code> (IREHDRXS) -) <code>[EZE</code> (ERFIARIEKX) -) <code>[EZ%</code>
{EFEAIA last BBX) -) <code>t</code> (IREMAZBIREFT) -) <code>3</code> (iEFDX 3
-) <code>8e</code> (IEHIRRFEN 8e-LVM) -) <code>w</code> ({REEHKXEK) </p>
<p>4RFTDTXZER</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">partprobe /dev/sda

</span></span></code> </pre>
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<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
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<p>5.68% pv</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">pvcreate /dev/sda3

</span></span></code></pre>

<p>63 & vg</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">vgextend centos /dev/sda3

</span></span></code> </pre>

<p>TH & Iv</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"># EFRIRIZE100%L2BEIVT B

</span></span><span class="highlight-line"> <span class="highlight-cl">lvextend -l +100%
REE /dev/mapper/centos-root

</span></span> <span class="highlight-line" > <span class="highlight-cl">&#&
</span></span> <span class="highlight-line" > <span class="highlight-cl"># }ZIVEISMENN5G
]

</span></span><span class="highlight-line"> <span class="highlight-cl">lvextend -L +5G /
ev/mapper/centos-root

</span></span></code> </pre>

<blockquote>

<p>iFR: BT <code>Insufficient free space: 1280 extents needed, but only 1279 availabl
</code> 1§ 100% 5& 5G U N—LeE A </p>

</blockquote>

<p>8.NHRHZEF</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">xfs_growfs /dev/mapper/centos-root

</span></span></code> </pre>

<blockquote>

<p>iEE: BENXHRFBIA <code>ext*</code>, NMIEMATHS <code>resize2fs /dev/mapper/
entos-root</code> </p>

</blockquote>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
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>

<p>pIh! </p>

<blockquote>

<p>iFR: FRY AAHESENSRY B LVM, & Ivm FiElIo XE#RENRE, TJLUEE <cod
>parted</code> @< ADKZET & v, RZENEZFMESXH>ITT &H. </p>
</blockquote>

<blockquote>

<p>EHERIRE, TEEMPRERBRT, HIT <code>/dev/disk/by-path</code> G<EE
<code>scsi</code> S</p>

</blockquote>

<h4 id="73;5_-FIN—RFHELR" > 75/ 5. FIN—IRFHER </h4>

<p>1.7x ESXi REPFIE—k 5G L </p>
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>
2 I FERIFI T </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">fdisk /dev/sdb
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</span></span></code></pre>

<p>DHHET: <code>n</code> (FEHKX) -) <code>p</code> (EFEEHDKX) -) <code>
</code> (IREHXS) -) <code>[|%E</code> ({EMEIARIREX) -) <code>[E|%E</code>
{EFEAIA last BEIX) -) <code>t</code> (IREMBITERT) -) <code>1</code> (IEEHKX 3
-) <code>8e</code> (EHIRRFEN 8e-LVM) -) <code>w</code> (fRIFHKXEK) </p>
<p>3.flFrDXER</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">partprobe /dev/sdb

</span></span></code></pre>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-9d217020.png?imageView2/2/interlace/1/format/jpg"> </
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<p>4.8J## pv</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">pvcreate /dev/sdb1

</span></span></code> </pre>

<p>53"& vg</p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">vgextend centos /dev/sdb1

</span></span></code></pre>

<p>6.9 & Iv</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"># BRIRN=E100% £ 5BE VT B

</span></span><span class="highlight-line" > <span class="highlight-cl">lvextend -1 +100%
REE /dev/mapper/centos-root

</span></span><span class="highlight-line"> <span class="highlight-cl">8Z&
</span></span> <span class="highlight-line"> <span class="highlight-cl"># J&IVEI¥MEIN5G
[E]

</span></span><span class="highlight-line"> <span class="highlight-cl">lvextend -L +5G /
ev/mapper/centos-root

</span></span></code></pre>

<blockquote>

<p>EE: B3 <code>Insufficient free space: 1280 extents needed, but only 1279 availabl
</code> 1% 100% & 5G FFRU/N—LEIAT </p>

</blockquote>

<p>7T.XHRZEF</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">xfs_growfs /dev/mapper/centos-root

</span></span></code></pre>

<blockquote>

<p>iFE: EXHEREFHEILN <code>ext*</code>, NfFEMAGS <code>resize2fs /dev/mapper/
entos-root</code> </p>

</blockquote>
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<p>pEIn! </p>

<h3id="2-1-1pR2-B9X-LLVM">2.1 55 2, BHX, T LVM</h3>
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>
1S RIER S BRI A 5GB<br>
2 ISR </p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
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cl">echo 1 &gt; /sys/class/scsi_disk/2\:0\:1\:0/device/rescan
</span></span></code></pre>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-d87d271b.png?imageView2/2/interlace/1/format/jpg" > <
r>

3MBRD X, EFFESX</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">fdisk /dev/sdb

</span></span></code></pre>

<p>3lET: <code>d</code> (MilfF7X) -) <code>n</code> (FEDKX) -) <code>p<
code> (IEFEFEDKX) -) <code>1</code> (IREHDEXS) -) <code>[EZE</code> (fEEREEAIA
$RESX) -) <code>[EIZE</code> (fEFEERIA last BBX) -) <code>w</code> (REHXE) </
>

<p>4.JlFDXZER</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">partprobe /dev/sdb

</span></span></code> </pre>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-c16bceec.png?imageView2/2/interlace/1/format/jpg"> <b

>

5.XHRFEEF</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">xfs_growfs /dev/sdb1

</span></span></code> </pre>

<blockquote>

<p>FE: BEXHRFIRI <code>ext*</code>, MfFERATHS <code>resize2fs /dev/sdb1</c
de></p>

</blockquote>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-a5aac0fd.png?imageView2/2/interlace/1/format/jpg" > <b

>

BIn! </p>

<blockquote>

; pj;ii%a; D EREEEENMOK, NRENEE— D XETT S8F, PESRAZT S, K

KK, <br>

ﬂ;j}gﬁé%ﬁlzﬁ’\]ﬁ:‘:t%ﬁféﬁﬁ, PERFERBR, EMNER <code>parted /dev/sdb</code> #1753
B</p>

</blockquote>

<h3id="2-1-123-THK-ELVM">2.1 iFE 3, THKX, B LVM</h3>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
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<h4 id="75i%—- 1B KFME=E-">T5/5—. BAREETE</h4>

<p> 1 IERRLAZSEH K 5GB<br>

2. RIFER </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">echo 1 &gt; /sys/class/scsi_disk/2\:0\:1\:0/device/rescan

</span></span></code> </pre>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
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3.Jil#r pv</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">pvresize /dev/sdb
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</span></span></code></pre>
<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
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>

438 Iv</p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl"># BRIKRHOTE100%EZPLE VT B

</span></span><span class="highlight-line"> <span class="highlight-cl">Ivextend -l +100%
REE /dev/mapper/data-backup

</span></span> <span class="highlight-line"> <span class="highlight-cl">8Z&
</span></span><span class="highlight-line" > <span class="highlight-cl"># J&IVEISMEIN5G
]

</span></span><span class="highlight-line"> <span class="highlight-cl">lvextend -L +5G /
ev/mapper/data-backup

</span></span></code></pre>

<blockquote>

<p>iFR: HIRR <code>Insufficient free space: 1280 extents needed, but only 1279 availabl
</code> 1§ 100% 5& 5G U N—LEa </p>

</blockquote>

<p>5.XHRFEF</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">xfs_growfs /dev/mapper/data-backup

</span></span></code> </pre>

<blockquote>

<p>FR: EXHREREIN <code>ext*</code>, NfFERET<S <code>resize2fs /dev/mapper/
ata-backup</code></p>

</blockquote>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-1707cc90.png?imageView2/2/interlace/1/format/jpg" > </
>

<p>pIh!</p>

<blockquote>

<p>HEHEIRE, TEEMPBREERT, HIT <code>/dev/disk/by-path</code> G<SEE
<code>scsi</code> S</p>

</blockquote>

<h4 id="75iE_-FIN—BREEE-"> 5. IN—IRFER </hd>

<p>1.75I0—3 5G AVRELRR </p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-f8169eaa.png?imageView2/2/interlace/1/format/jpg" > <b

>

2.8 pv</p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">pvcreate /dev/sdc

</span></span></code></pre>

<p>35 & vg</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">vgextend data /dev/sdc

</span></span></code> </pre>

<p>43 & Iv</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"># BRISHZE100% S ZPANT B

</span></span><span class="highlight-line"> <span class="highlight-cl">lvextend -l +100%
REE /dev/mapper/data-backup

</span></span><span class="highlight-line"> <span class="highlight-cl">8Z&
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</span></span><span class="highlight-line"> <span class="highlight-cl"># }EIVEIFMENN5G
IE]

</span></span><span class="highlight-line"> <span class="highlight-cl">lvextend -L +5G /
ev/mapper/data-backup

</span></span></code> </pre>

<blockquote>

<p>iFE: BER <code>Insufficient free space: 1280 extents needed, but only 1279 availabl
</code> J& 100% (& 5G #FUN—LEIAT < /p>

</blockquote>

<p>5.XHRFEF</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">xfs_growfs /dev/mapper/data-backup

</span></span></code></pre>

<blockquote >

<p>iER: BEXHERFEA <code>ext*</code>, NIfEHAHS <code>resize2fs /dev/mapper/
entos-root</code></p>

</blockquote>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-1508a231.png?imageView2/2/interlace/1/format/jpg" > <b

>

BIh! </p>

<h3id="2-1-1384-THX-KXLVM">2.1 75 4, oKX, K LVM</h3>
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1.5 REREE A 5G<br>

2. JRIFEEE </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">echo 1 &gt; /sys/class/scsi_device/0\:0\:0\:0/device/rescan

</span></span><span class="highlight-line"> <span class="highlight-cl">&
</span></span><span class="highlight-line"> <span class="highlight-cl">echo 1 &gt; /sys/c
ass/block/sda/device/rescan

</span></span> <span class="highlight-line"> <span class="highlight-cl">g}
</span></span><span class="highlight-line"> <span class="highlight-cl">echo '- - -' &gt; /s
s/class/scsi_host/host0/scan

</span></span></code> </pre>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-a7bbeal10.png?imageView2/2/interlace/1/format/jpg"> </
>

<p>3.XHRFEF</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">xfs_growfs /dev/sdb

</span></span></code></pre>

<blockquote>

<p>iFE: BXHEHERFIEH I <code>ext*</code>, MHFERIEHS <code>resize2fs /dev/sdb</co
e></p>

</blockquote>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2020/06/image-4de5aafc.png?imageView2/2/interlace/1/format/jpg" > <b

>
BIh! </p>
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